
  SECOND TERM EVALUATION  2022 - 2023

  A                X - MATHEMATICS -  DETAILED ANSWER KEY            E 1003  
Each questions from 1 to   4 carries  2 scores.  

1

Answer 

a) ∠ A = 600

b) BC = 3√ 3 cm

2

Answer 

( x + 1 )
2

= 49

    x + 1 = √ 49 = 7 ==> x = 7 − 1 = 6 m

 3

Answer 

a) (7 , 0)

b) (0 , 5)
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4

Answer 

a) ∠SOT = 1200      ( The centre of a circle touching two lines meeting at a point  

b) ∠POT = 600          is on the bisector of the angle formed by the lines    ) 

Each questions from  5  to   10  carries  3  scores.  

5

Answer 

a) AC = √ 42
+ 32

= √16 + 9 = √25 = 5 cm

b) sin A =
BC
AC

=
4
5

   cos A =
AB
AC

=
3
5

6
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Answer 

a) ∠PAB = ∠ACB = 550

b) ∠PBA = ∠PAB = 550
(PA = PB)

    ∠P = 1800
− (550

+ 550
)

             = 1800
− 1100

= 700

7

Answer 

a) a = 10

b) (
a
2 )

2

+ l2 = e2 ==> (
10
2 )

2

+ l2 = 132 ==> 52
+ l2 = 132

     25 + l2 = 169 ==> l2 = 169 − 25 = 144 ==> l = √ 144 = 12

8
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Answer 

a) OA × OB = OP 2 ==> OA × 8 = 42 ==> OA × 8 = 16

    OA =
16
8

= 2

 b) Coordinates of  A  = (−2 , 0)    

9

Answer 

a) (
8
2 )

2

= 16

b) ( x + 4 )
2

= 20 + 16 ==> ( x + 4 )
2

= 36 ==> x + 4 = √36 = 6

    x = 6 − 4 = 2

10

Answer 

a) 900

b) 

SARATH  A S ,  VMC GHS  WANDOOR  , MALAPPURAM



Each questions from  11  to   21   carries  4  scores.

11

s

Answer 

a) a = √144 = 12 cm

b) (
a
2 )

2

+ h2
= l2 ==> (

12
2 )

2

+ 82
= l2 ==> 36 + 64 = l2 ==> l2 = 100

      l = √ 100 = 10 cm  

c) Lateral surface area = 2al = 2 × 12 × 10 = 240 sq . cm

12

Answer 

a) Coordinates of   B  = (5 , 3)  

    Coordinates of   D  = (2 , 7)

b) AC = √ ( 5 − 2 )
2

+ ( 7 − 3 )
2

= √ 25 = 5

13
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Answer 

a)  

b) b) tan 500
=

Opposite side of 500

Adjacent side of 500 ==> tan 500
=

h
4

==> 1.19 =
h
4

        h = 4 × 1.19 = 4.76 m

14

Answer

15

SARATH  A S ,  VMC GHS  WANDOOR  , MALAPPURAM



Answer 

a) 2 length + 2breadth = 26 cm ==> length + breadth =
26
2

= 13 cm

b) breadth = x ==> length = 13 − x

c) x (13 − x) = 40 ==> 13 x − x2
= 40 ==> x2

− 13 x + 40 = 0

    x =
−b ± √ b2

− 4ac
2 a

=
−(−13) ± √ (−13)

2
− 4 × 1 × 40

2 × 1

       =
13 ± √169 − 160

2
=

13 ± √9
2

=
13 ± 3

2

   x =
13 + 3

2
                         OR                 x =

13 − 3
2

    x =
16
2

= 8                                                x =
10
2

= 5

  breadth = 5 cm  

  length = 13 − 5 = 8 cm

Another method  

x2
− 13 x + 40 = 0

           x2
− 13 x = −40

x2
− 13 x + (

13
2 )

2

= −40 + (
13
2 )

2

 ( x −
13
2 )

2

= −40 + (
169

4 ) ==> ( x −
13
2 )

2

=
−160 + 169

4

( x −
13
2 )

2

=
9
4

x −
13
2

= √
9
4
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  x −
13
2

=
3
2

                           OR              x −
13
2

=
−3
2

             x =
3
2

+
13
2

                                                 x =
−3
2

+
13
2

             x =
3 + 13

2
                                                   x =

−3 + 13
2

             x =
16
2

= 8                                                  x =
10
2

= 5

  breadth = 5 cm  

  length = 13 − 5 = 8 cm

16

Answer 

a) PA × PB = PC2 ==> 12 × PB = 62 ==> 12 × PB = 36

   PB =
36
12

= 3 cm

  
b) AB = PA − PB = 12 − 3 = 9 cm

17 

Answer 

a) Radius = √ ( 6 − 3 )
2

+ ( 4 − 0 )
2

= √25 = 5
 
b) (3 + 5 , 0) = (8 , 0)    ,     (3 − 5 , 0) = (−2 , 0)
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18

Answer 

a) ∠D = 400             ( All angles made by an arc on its alternate arc are equal  ) 
 
b) ∠ ABD = 900                 ( Angle in a semicircle is right   )

c) In triangle  ABD   , sin 400
=

Opposite side of 400

hypotenuse
¿ ==> sin 400

=
AB
6

                                0.64 =
AB
6

  
                                AB = 0.64 × 6 = 3.84 cm

19

Answer 

a) ∠ A = 500
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b) 

20

Answer 

a) (6 , 0)

 
b) 3√3

c) (3 , 3√ 3)  
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21

Answer 

a) ∠ A = 1800
− (500

+ 800
) = 1800

− 1300
= 500

 
b) BC = 8 cm                          (∠ A = ∠B)

 
c) Draw AP  perpendicular to   BC    .

    In triangle  APC   , 
  

                             sin 800
=
Opposite side of 800

hypotenuse

                          sin 800
=

AP
AC

   ==> 0.98 =
h
8

                      h = 0.98 × 8 = 7.84 cm

        Area of  the  triangle  ABC =
1
2

× BC × h  

                                                     =
1
2

× 8 × 7.84 = 31.36 sq . cm

Each questions from  22  to   29  carries  5  scores.

22
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Answer 

a) CR = 4 cm
 
b) QB + PC = QA + PA = PQ = 10 cm

c) Perimeter of the triangle  PQR
 
                                               = PQ + QR + PR
                                                       
                                               = 10 + (QB + BR) + (CR + CP )

                                               = 10 + QB + 4 + 4 + CP

                                               = 10 + 8 + QB + CP
                                                       
                                               = 10 + 8 + 10 = 28 cm

d) A =
P
2

× r ==>  Area =
28
2

× 2 = 28 sq .cm

23

Answer 

a) ∠PRS = 1800
− (150

+ 1500
) = 1800

− 1650
= 150

b) SR = 8 cm                 (∠SPR = ∠PRS)
 
c) ∠QSR = 1800

− 1500
= 300

d) QS = 4√ 3 cm

    QR = 4 cm
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24

Answer 

a) ∠BPQ = 500

 
b) ∠BPQ = ∠BQP = 500

     ∠B = 1800
− (500

+ 500
)

            = 1800
− 1000

= 800

c) ∠CQR = 600  

  ∠CQR = ∠CRQ = 600 ==> ∠C = 1800
− (600

+ 600
) = 1800

− 1200

                                                                                                           
                                                                                                              = 600      

     ∠ A = 1800
− (800

+ 600
) = 1800

− 1400
= 400

25

Answer 

a) Sum of the lengths of all edges = 8 × 10 = 80 cm

                                                                                                         
                                                                                                   (a = e = 10 cm)
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b) l = 5√ 3 cm

c) (
a
2 )

2

+ h2
= l2 ==> (

10
2 )

2

+ h2
= ( 5√3 )

2

                 25 + h2
= 25 × 3

                               h2
= 75 − 25 = 50

                                h = √ 50 = √25 × 2 = = √ 50 = 5√2 cm  

d) Volume =
1
3

× a2h =
1
3

× 102
× 5√2 =

500√2
3

cubic . cm

26

Answer  

 a) 

b) 

c) (2 , 5)    (  OR  any point with  y coordinate  5    )
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  27

Answer 

a) 

b)

        Width of the river = 5 m

c)   Height of the tree = 5√ 3 m

28
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Answer 

29

Answer 

a) 3 cm

b) 2 cm

c) 13 + BC

d) Half the perimeter of the triangle  ABC .  

e) 
30
2

= 15 cm
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